TAX
8/26/04

Introductory remarks

Why tax?

Raise money
How to incentivize behavior through tax code: IRAs, children, homes

Deductions and exemptions

Brackets, marginal rate (the highest bracket in which you are taxed)

You can get a deduction for the interest paid on a home mortgage loan, for your first or second residence, which can be a boat (capped at $1 mil)

Redistribution of wealth through progressive tax structure

Income=Consumption + change in wealth over time

Any tax base should have, at its core, the ability to pay

Fairness and perception of fairness
Different types of possible taxes:

Head tax
Property tax

Estate and gift taxes

Consumption tax (sales tax, excise, or value added tax)

Import and export duties

Tax on wages, on gross receipts

Wealth tax: mitigates concentration of wealth but creates incentive to spend and not save

Use tax: airport tax, toll road
Capital Gains Tax

1042500970

Realization based tax system

Vertical and horizontal equity

Flat tax/proportional tax=one rate

Progressive tax

Regressive

Ideally we have a neutral tax which does not affect behavior

questions p.15 of the text

8/30/04
Rev. Rule 2003-1 CB 47

Rev. Proc. 2003-85, 2003-1 CB 57

Income=Consumption plus change in wealth

Dead weight loss

Liquidity issue
Tax Base: taxable income
amount realized: price you sold property for
basis: amt. originally invested

taxpayers have a choice: itemized decductions or standard deductions
the value of a deduction is a function of your marginal tax bracket

credit reduces your tax liability directly, whereas deduction is indirect

loan or its proceeds are not treated as gross income

damages for personal injury are not treated as taxable income (why?)
personal interest generally not subject to tax, but 1986 changed that

problem, p.21:

Receipts—

(1) $45,000
John’s salary

(2) 13,000
Jane’s sal.

(3) 1,800
proceeds from stock sale purchased for 1k 2 ys. earlier

(4) 12,000
damages received for personal injury

(5) 6,000
car loan

(6) 300

interest on savings account

What is John and Jane’s gross income?  look at § 61, 104(a)(2), and 1001

What are their deductions?
Tax Law: 9/2/04
§221

§225: federal income tax deductable

§164: 

deductions are much more valuable; taxpayer would rather see that listed in §62

tentative tax liability=before credits

amortization charts

realization

recognition

most realizations must be recognized in that year unless you have a deferral, which is advantageous b/c if you pay later you pay less
Income Tax 9/9/04

Many elements of broad-based consumption tax in our income tax; our system is a hybrid

Haig-Simons definition of income=consumption+∆ in wealth; consumption=income-∆ wealth

any time you defer tax liability, you are effectively reducing the rate

much of tax law practice is about timing

distributive aspects: if we changed to broad-based consumption tax, what category of taxpayer would bear the largest burden of a consumption tax?  it would seem to be those who spend the greatest percentage of their income, but one can conceive of a system of deductions/exemptions that would protect low/middle classes

many times we’ll ask whether a provision is consistent with an income or a consumption tax

Mill said an income tax is a double taxation on saved money; many argue that our system’s heavier burden on saving encourages spending.  Others counter that it is appropriate to do so b/c savers have wealth that creates more income.

modern debate: do you want to tax on ability to pay or on standard of living

when we say consumption, we mean personal consumption, not investments intended to earn money

ordinary expense v. capital expenditures aka capital investment

Friedman v. Delaney, 171 F.2d 269 (1st Cir. 1948).  page 48

question 1, p.55: Stan may be making a capital expenditure

Tax, 9/13/04

review of questions p. 55

ordinary expense v. capital expenditure

some case (Higgins) went to supreme court which held he couldn’t deduct under §162.  Congress responded with §212
Tues, Sept 14
Court looked at 162-7, so we talked about how it was at applying that free-bargain notion.

So we were looking at how to categorize these payments, b/c Smith is a shareholder and [employee?]?

- We would ask could they be gifts? but corps aren’t supposed

- Can’t be a dividend, b/c Smith is a shareholder.

So how do we treat these monies sensibly?  The court says, this part is reasonable compensation, the corp can deduct for it.  But the rest isn’t.

 

So how could we reconstruct this?

Harold’s Club presents a traditional approach to the Q of what is reasonable compensation.

- Not all courts apply a multi-factor test

- Posner on the test: look at time the contract was entered into, and whether it was a free bargain.  “he went like this to the multi-faceted test [makes slapping gesture].”  If you use the independent investor test, you conceptualize the corporation as being a contract; what happens is, the owner of assets hires a person to manage those assets for a salary.  In return for that salary, the owner/ manager works to increase the value of those assets.  Those that increase can be expressed as a rate of return.  Not surprising that Posner comes out w/ a market notion.  The higher the return the manager generates, the higher compensation (?)

- Looking at what an independent investor would look for.  

 

Did Harold’s Club go beyond the role that Posner would assign to it?  Sure.  Remember what the court did in Harold’s Club, it imposed limitations on the amount that would be treated as tax purposes.  It comes in and applies factors which limit what is considered reasonable, w/out really a discussion of what investors might expect or agree with.  So it’s imposing this test w/out looking at whether or not it fits what Posner says.  

- Applying the independent investor test, Posner would have looked at the earnings of the corporation; and see if investors would have enjoyed a market rate of return, then he would have found the contingent payments reasonable.

- Does Posner’s test actually require an outside or independent investor?  No.

If the rate of return is low, then the management’s compensation should be next to nothing.

 

Is the test that Posner proposes, or is the multi-factor test, are they aimed at determining what amount of compensation is exactly correct?  No, not at all.  What they’re trying to get at is reasonableness.

Which test is clearer, more objective?

 

How test would work w/r to Michael’s $1m bonus

- Corp earns $5m, reduce this by the amt paid to Michael.  So consider $4m return on an investment?

 

The Code is trying to limit people’s ability to shift income, e.g. from the corporation to the recipient of the payment.  But there are other ways to do this.

 

p. 68, 2) Eager works for Widget, they pay E’s personal trainer.

            - This counts as income for E.  For personal trainer, it’s deductible if it’s reasonable; so it’s $200 of compensation income.  So here the $200 is claimed on 2 returns.  

 

3) There’s no question, Saul has income.  The point is, does the independent investor test make sense in this kind of case?  The corp doesn’t have any value; the value is all part of Saul’s services.

 

Another way of thinking about it is, considering the market demand for CEOs or whatever, what does the corp have to pay to get one?

 

4) Gross income: Sales $400,000

                        - cost of goods

                                    = $300,000.

            AGI:     - rent

                        - salaries

                        not minus bribes

                        not minus fine

                        - legal fees.

Next time: fringe benefits.  Questions and problems p. 82.

Tax, 9/20/04

fringe benefits: often attractive to employers b/c cheaper way of compensating

80=(1-rate) x ($D)

example: A is an associate at a firm; B is in private practice

A gets $100,000 per year; B gets $135,000 minus $35,000 in expenses

AGI for both is $100,000

C and D are both law firm associates w/ salaries of $100,000

C spends 25k on entertainment, clothing; D spends 10k on such;

Now C receives cash of $100k; D receives $92,000 cash plus 8k worth of clothing

what if now D sells clothes and the 8k are given by D’s employer which D must wear to work

if D was self-employed, would the 8k on clothes be justified as necessary for business

Congress wrestled with these ideas when crafting §132, dealing with taxable v. exempt benefits

many other sections also address fringe benefits

problem 1, p. 82.  what if air conditioner is forced consumption, what if it is not valuable to individuals

Nixon’s HVAC—during his presidency the benefit was sort of the costs of doing business, but that only accounts for 1/3 of the useful life expectancy of the HVAC.  The other 2/3 became Nixon’s after he left office, unlike Ted Player’s in this example

If this were to happen today, under § 132, most likely it would be treated the same: § 132 (d)

Congress trying to make code simple…compliance, preserving equity and the perception thereof

§ 83

where there is a transfer in connection with service provided, the bargain is included in gross income in the year of receipt

bargain prices may fall under § 132 (c), but 132 (j) looks at discriminatory discounts

the idea is that you don’t want certain fringe benefits to be skewed to only high-income employees (and/or senior employees)

non-discrimination requirement runs through many rules

substantial risk of forfeiture

generally, tax law does not take a transactional, wait-and-see approach.  thru gifts on Thursday
Tax Class 10/14/04

commutation: if you’re traveling from one place to another it has to be for business, expenses that you wouldn’t have to concur but for the business

p. 195, question 3: Ned’s visits to 12 state region around Kansas City on business…if you’re there more than a year it’s not temporary.  Ned can deduct meals, lodging, transport, and local transport.  Meals are a bit diff.

talking about business travel (the actual transportation), we know that this should not end up netting the employee income.  If the employer increases salary to pay for the add’l expenses, the employee shouldn’t end up better off…

9000 
salary

1000
transportation

1.  employer could provide the transportation (buy the ticket, provide a plane).  in this case, the employer can deduct this b/c section § 132(a)(3)…30% means 2700

2.  employee pays $1,000 and is reimbursed, you actually have income, so gross is $10,000 and the AGI is back down to $9,000…due to the above the line deduction provided by § 62…30% means 2700

3.  what if employer raises employee’s salary to $10,000?  Then you have the Gross and AGI at $10,000, so what happens in order to get the employee to be treated equally…below the line deduction: is it a miscellaneous expense, and is it above 2% so §§162, 63 means you get a below the line deduction of (1000-200=800), so you have 9200 for the tax base…30% means 2760

§ 67  Provides a floor, applies only to certain below-the-line deductions

below the line deductions have some personal relevance, it carves out a personal element in the itemized deductions…rough justice if justice at all

§ 68  If you have above … AGI, you reduce the amount of deductions by some formula…the effect is that high income tax payer gets very little for itemized deductions.  You only get to section 68 through 67.  Some have advocated getting rid of § 68, like many sections they obfuscate 

Employers and employees don’t always stand on opposite sides of negotiating compensation; important to be aware of the subtleties in the code to take advantage of the lowest possible tax liability

Question 5: Could we say that Dave has two business homes?  Yes we can, tax court said; 1st circuit overruled.  Principal place of business is the key; here it is Minnesota and Miami is the “minor place of business” so we’ll allow travel expenses 

even if its not a business, it is an investment so you can go to § 212 
Meals!
If the taxpayer pays for his meal and the client’s meal, how should he be taxed?

Moss v. Commissioner, 758 F.2d 211 (7th Cir. 1985)

went through Smith v. Comissioner; child care expenses for Monday
Tax, 10/25/04
p.236…hoping that losses from some investment will offset the gains you make

losses involved are generated by depreciation deductions (more in Ch. 7)

§469 addressed to this sort of situation…passive investment, losses are suspended.  real estate is one by definition

§469 worked exactly the way congress intended…closed this type of tax shelter

not responsible for the reg.s under §469

Tax, 11/01/04
Supreme Court has said taxpayer entitled to a deduction when they have an inclusion in one year and a deduction in a later year

§1341 designed to mitigate problems caused by rate changes b/w year of income and year of deduction

in terms of rates §1341 is a win-win situation

does not account for the loss of interest in the interim period

flip side: tax benefit pool

first an inclusion, then a deduction….now we’ll talk about first, parting with funds and then, getting funds back

§111 and common law rule w/ respect to tax benefit comprise two rules


a.  inclusionary rule


b.  exclusionary rule

if in one year taxpayer parts with funds and that provides a tax benefit then 

on the other hand, if taxpayer paid money, transferred property, which did not result in benefit and the money or property returns to taxpayer in a later year, then there is not tax liability

could be described as an unwinding

overall idea is that the taxpayer should be put in appx. the same after tax position as if only the correct amount had been deducted/paid out in the earlier year

rough transactional parity=unwinding, in the context of a calendar system

tax benefit rule, like other rules, only provides rough transactional parity

we have time value issues as well as rate issues

offsetting benefits

problems p. 290

#1a: §164 provides a deduction for state income tax (new tax bill will allow deduction of either state income tax or state sales tax)

$25,000 gross income

$3,000 standard deduction

$2,000 personal exemption

$1,600 withheld by employer for state income tax (deductible per §164)

$4,400 in other deductions

when Scott calculated his taxable income in year 1, he would have had $17,000 but if the right amount had been withheld he would have only deducted 600 less and thus have a $17,600 AGI; therefore in year 2 all $600 should be included in gross income.  mistaken deduction offset by an inclusion
why not amend the first year’s return?  not the way its done…if the deduction was appropriate in year 1

b.  assume the other itemized deductions only totaled 400 so his total itemized deductions would have been 2k, that is, 1k less than the standardized deduction so he should have taken the standardized deduction no matter what, which means there would have been no difference and now he has no add’l liability

c.  assume that the other itemized deductions were 1,800 so that total itemized deduction totaled $3,400.  In this case the only benefit Scott got was $400 so that would 

state income tax not subject to §67 but may be subject to §68…you have to figure out any limitations on the deductions b/c that tells you how much of a benefit the taxpayer got 

rate changes are not taken into account nor is the time value of money

#2: Sheila donated land to city conditionally, worth $50k in year 1.  city returned land in year 10, worth $70,000

she properly deducted the 50k in year 1, so we know that the return of the property should be properly included

$70,000 per Glenshaw Glass OR
maybe $50k because she hasn’t realized the increase in value and we’re trying to put her back in the situation she would have been in 

Arrowsmith would correlate the deduction to the income

in some respects this is all a part of one transaction; characterization of the income would reflect the deduction

Malman says 50k

she originally paid 10k for this land

BASIS: $10k or $50k?  The only reason she has income is b/c she already took a deduction??? Not a lot of law but probably the right answer is 10k b/c that puts her in the same position she would have been in had she never given the property away…

what if the deduction she took was improper (not fraudulent just improper) and now statute of limitations has run; what about having an “erroneous deduction exception”?  this would be rewarding mistakes and punishing those who handled the transaction correctly

§1341: under claim of right doctrine you got to choose whether you pay at this year’s rates 

doesn’t apply to the tax benefit situation when you had a prior year deduction and a current year exclusion

C: what if the property depreciated in value and was worth only 30k when returned to her ?  if talking about unwinding shouldn’t we include 50k

notion of accession to wealth

BREAK

all-events test

to some extent, the deductions may also proceed without actual payment

accrual-method taxpayer

two part test for income: taxpayer allowed to take a deduction (for an amt otherwise allowable) when:


a.  all events have occurred that fixed the liability


b.  amount determinable with reasonable accuracy


c.  third prong added: 

we’ll come back to this Thursday

cash method proceeds on actual on constructive receipts/actual payments; accrual method doesn’t

PROBLEMS p. 316

1.  a.  Derek the Dentist fixes teeth on 12/15, bills $100 on 12/20, bill pd. 1/15.  When does he report the income?  When he’s paid: year two.  No issue of constructive receipt b/c no evidence that D could get the money at any time prior to actual pmt.

What if D fixed teeth in Oct. but waited to send bill until late year 1

under what circumstances is the payor’s obligation to pay in the future something that we’re ready to tax now?

regulations under §61

b.  D rendered bill and takes a negotiable note as pmt. in December; the note was paid in January.  Constructive receipt…(sort of like if the patient tries to pay and then D says woah, hold onto that a few weeks until January.  diff b/w constructive receipt and delayed billing is that the funds are available for taking by the dentist)…here in part b the debt obligation is rec’d by dentists but is this something we want to tax immediately or wait until tax is actually paid

Cowden p.303…taxpayer leased land to oil co. and…some cases have turned on the form of the debt obligation, court here wanted to move away from formalistic approach and examine the substance:



solvent obligator



transferable



assignable



in writing



discounted roughly equivalent with time value & similar considerations

question for D is whether the patient’s obligation is a cash equivalent.  if so, how much income?  fair market value (not face value).  would result in income to D on receipt!

c.  D receives a check from a fellow who sometimes doesn’t have money in his account at the end of the month.  (what if one receives a check at the end of Dec. but all the banks are closed?  still income in that year)  Here, where we have doubtful solvency, no income

d.  D sues X for breach of contract, alleging damages of 7k.  in year 3, judgment awarded in amt of 6.5k.  in year 4, paid in full.  Is there income when judgment awarded or when judgment paid?

if funds are in escrow or trust, that’s not actual receipt nor is it constructive receipt…fair market value of the interest would constitute receipt

1.451-2: constructive receipt

2.  Margot

(why would you want to argue constructive receipt in order to accelerate?  statutes of limitations might be one reason: case of the football player; also, Aldridge Ames case: no constructive receipt in 85 b/c no unfettered access)
Margot performs her services but client says trouble paying and so they agree that she’s not going to be paid until the future…can taxpayers agree to defer payment?  per revenue ruling, a deferral pmt. plan can be legit if…Cowden, sort of.  You can avoid constructive receipt if you enter into an arrangement done right. 

Davis case (p.296): w/ respect to severance pay, key factors are volition and knowledge for constructive receipt
Tax 11/08/04
Accrual method, structured settlements and taxpayers’ options

Before addition of (h) to 461 taxpayer could deduct today for payments to be received in the future

Mooney Aircraft p.334-5: deductions for liabilities so far down the road that they were disallowed; why? several justifications:

in the 1960s noone was thinking about time values of money…the right answer under the law pre-1984 was that there was no way to limit the amount deducted to less than the actual amount 

so you could allow a deduction for the current value of the future obligation, but 461(h) allows a deduction in most cases for the face amount of the obligation when the obligation is met/paid

putting a check in the mail is considered delivery/payment; no such thing as constructive payment 

govt has a strong tool and wide latitude in 446(b)

Interest: compensation/rent for the use of money; time value of money; include it on the income side §61(a)(4)

deduction side complicated regardless of whether interest is stated or not

before §86 virtually all interest was deductible; after §86 deductibility depends on which basket you put it in…determine the basket by following the use of the loan proceeds: follow where the principle went



i.  personal interest



ii.  trade or business interest (yes)



iii.  investment interest (yes, but subject to §163)



iv.  passive activity interest



v.  home mortgage interest…here you also have to look at what’s securing the loan



vi.  automobile interest



vii.  interest to purchase/carry tax-exempt bonds (no; 255(a)(2))



viii.  educational interest (



ix.  construction period interest

for Thursday we’ll finish problems p.354-55 and start looking at p.371
Tax 11/11/04
problems p.354

1.  bonds of two types:


a.  10% taxable



i.  person in 35% bracket gets 6.5% return



ii.  person in 15% bracket gets 8.5% return


b.  8% tax-free



i.  person in 35% bracket gets 8% return



ii.  person in 15% bracket gets 8% return


c.  market should cause the rates on these different types of bonds converge

2.  Enid in 35% bracket borrows $10,000 at 9% interest and buys a 6% municipal (tax-free) bond.  If she pays $900 interest and she can deduct the $900 then she would actually save 315 and thus pays only 585 in tax and with addition of the 600 income she has come out $15 ahead

but §265(a)(2) says you cannot deduct interest you pay on monies borrowed to buy tax-exempt

tax arbitrage

if this deduction were available then everybody would be on board

3.  §163(d) limits the taxpayer’s deduction

interest in most cases is a deduction against ordinary income

capital gain on the disposition of stick held many years I currently take at 15%

time value play going on here

§163(d)(2); carrover provision

Tax

42,000

  4,000

46,000 income

       .30 rate

13,800 tax

Cash
42,000

  4,000

(13,800)

(14,400)
17,800

42,000

(14,000)

( 3,000)
25,000

      .3 rate
7500 tax

42,000

(14,000)

(3,000)

(7,500)

(600)
16,900
